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Algebra: Area of a Triangle

Solve.

1.

Fiona is making a dragon costume for the
school play. It will have triangular spikes
down the head, back, and tail. Each head
spike has a base of 2 centimeters and a
height of 6 centimeters. How much fabric
is in each head spike?

Show Your Work

Each of the spikes on the back will be
10 centimeters high and have a base of
6 centimeters. What will be the area of
each of these spikes?

Each of the tail spikes will have a base
of 3 centimeters and an area of 4.5 cen-
timeters2. What will be the height of each
tail spike?

Fiona bought a piece of fabric that mea-
sured 1,296 inches? She cut it in half
diagonally to make two equal triangles.
One of the triangles has a height of 24
inches. How long is its base?

. Wendell is designing a banner for the set.

His drawing is a triangle with an area of
1,000 centimeters?. The actual banner
will be 3 times as high and 3 times as
wide as the drawing. Wendell says it will
also have an area 3 times larger than that
of the drawing. Where did Wendell make
his mistake? What would have to happen
for the banner to have an area 3 times
larger than that of the drawing?
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